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If it usually dries up it is the owner’s loss — nv277 ®»a7 X700 P07 7OV

Overview!'

X217 ruled that if one hired workers to irrigate his field, and the river (from which
they drew the water) dried up, if it was common for this river to dry up and the
workers are from this city, it is 299197 X7°09 (otherwise it is 2"17¥27 X709 [unless it
did not usually dry up]). n1901n explains why in the previous case (of the river
overflowing) these qualifications are not mentioned.
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Regarding the previous case, where the river overflowed, X217 did not

distinguish (as he did here) whether it was usual to overflow or unusual (rather in

all cases it is 2"7v27 X7°09), the reason is -
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For presumably it is usual for the river to overflow, for therefore there are

irrigation ditches in the field to spread the water over the entire field -
= INPINN NN 2325 NHN NINN 22 12 »Yan XY

And X271 did also not distinguish in the previous case of X771 XnX1 whether the

workers were from that city, or from another city (as he differentiated here by pod
XI1) -
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For there, by X771 XnX), even if the workers lived in that city it would still be
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For the workers are not expected to know the character of his field, whether
the river water flows into his field (therefore it i1s 2"7v27 X7°09); however if the
river dried up all the people of the city are aware of it (so it is 279197 X7°09).

Summary
Fields with irrigation canals indicate that they expect the river to overflow (but will

not necessarily irrigate all the fields). The entire city is aware when the river dries
up.

! See ‘Overview’ to the previous poo1 "7 'oIn.

2 The owner should, therefore, have told them that if the river overflows you will not be paid your (entire) wages.
However regarding the workers (even if they are aware that the river overflows, nevertheless) they are not sure that
it will irrigate this field as m»oIn states shortly.

3 It affects the entire city; everyone is talking about it.
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Thinking it over
1. What would be the ruling in a case of X771 XnX, but in a situation where it is not
usual for the river to overflow?

2. moon explains why by X771 pood there 1s a difference whether 7°2v or not;
however by X771 XnX the rule is that it is always 2"7¥27 X7°09 (since Rnnon it i1s 7°2y
7). Seemingly there is a simple(r) explanation, by X771 XnX the irrigation was
done therefore the 0°%315 should get paid (even if it is 72y X?), however by pod
X171 the work was not done, so why should he pay the o°%v19 (if it is an uncommon
occurrence)?!*

4 See 7NN WM XX # 74.



